
����� ���	
46- Which part is correct? 
1) Assembly language programs are easily stored in the memory language. 
2) Programming in assembly language is as hard as machine language. 
3) Programming in machine language is easier than assembly language. 
4) Machine language programs are easily stored in the memory. 
 
47- Which of the following devices are known as I/O devices? 
4) Scanner  3) Disk  2) Mouse  1) Keyboard  
 
48- Baud rate is used to describe ……… . 
1) the electromagnetic transfer of signal energy from one conductor to another . 
2) signal coupling  
3) a conducting connection between electrical equipment  
4) the speed of data transmission  
 
49- which of the following is the newest type of printer interface. 
1) USB  2) Serial   3) SCSI  4) parallel 
 
50- what is the set of rules used to transmit data from one computer to another . 
1) Service  2) Protocol  3) Adaptive  4) Network Operating System 
 
51- It is true that a byte …………. 
1) conveys the smallest amount of information . 
2) Transmits message faster than a word . 
3) is the same as bit used to convey meaning . 
4) is the same as bit used as a unit of measurement . 
 
52- A …... is an example of a hand -held optical device . 
1) light pen     2) floppy disk reader  3) disk drive   4) tape drive 
 
53- What is meant by the term upload  
1) Encrypt the message so that no-one except the intended recipient will be able to read it . 
2)copying a file from one distant computer across a network of computers to your hard disk. 
3) copying a file from your own disk to a remote computer.  
4) It is a discussion group that focuses on one particular subject .  
 
54- The rapid technological developments ………. 
1)cause each new product to become outdated quickly      
2)cause the prices to increase progressively 
3)slow down the manufacturing processes 
4)diminish the possibility of doing research 
 
55- When you choose "Cascade" command, windows lays all the open windows on top of 
each other. Cascade means ……………… . 
1) serially connected    2) Laying on top of each other. 
3) disjoined     4) both 1 and 2  
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Procedure F(L) 
Begin 

if L#0 then 
Begin 

F( Link(L) ); 
Write( Data(L) ); 
F( Link(L) ); 
Write( Data(L) ); 

End; 
End; 
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Procedure wo(s:string; n:Byte) 
Begin 
 IF n<Length(s) then  
 wo(s,n+1); 
 write(s[n]); 
end; 
Begin  
 wo('Reza',1); 
end. 
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Int grades[]={12,20,17,18,9} 
Int *ptr=grade; 
Printf(ptr+2); 
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for(a=1 ; i<=n ;a++) 
for(k=a ; k<=n ; k++) 

for(p=1 ; p<=n ; p++) 
cout<<"test"; 
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void f() 
{

char ch; 
if ( (ch=getch()) != 13 ) f(); 
putch(ch); 

}
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5vv ��423� �:�FH A��R (�� ���7(' $��( 
Dim I_ST, I_FACT, N_FACT As Double 
I_ST = 1: N_FACT = 1 
Do 
N_FACT = N_FACT * I_ST 
Print N_FACT; 
I_ST = I_ST + 1 
Loop Until I_ST > 5 
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